4. EEIER

THSFE EE]

KER B R UGEERR I EHETELIIEENHYET .

= — §§E 52, &) 16 3
ERETARERAILT e ok
iR WILaSa =Tt 59—
1. EARIER
BENSE TEE(R£R) | BRSE(KHD%E) ERMEER | A& BEUNDEE) |zotaza=T s
FELRE EoLBUERR INERRX WIL/NERR X FEAH H27.4.12
AT TEH WATET=T B3—12
HEBEEBIFDLTR BRETHILOS A =T o 2—DRERUVERIZET 554
Bh s 1,487.44 mi| SHigHhmEE 0.00 mi| THEFIKR mA
SHREFTEREE 28250 mi| SBERMEIE 0.00 m | EYMREIKR mA
BrEREER K5 | B |8 HEHAH 19 &
INYT )=t FETCXEX ZDih
ERERE @) 1Z2LIBRT O | ##MEE | — #EARLAN —
ILAR—4— — BLOXRMBA | O |BKEREE| O | KIBAKE | —
(AN o ) vy o @) 1 AP
FRRAL X
H\VGEMAEEE @) 15
2. BEMRHIER
£ BE | BE% | A o THE
No|  RMAT o 5 20 o o 7 mEn D | REETZ
1WLasa=F4t>4—| H27.323 | Si& 2825 mi| 1| Ol HE | :iEE | FE KFEA
2 ]
3 m
4 m
5 m
6 ]
7 m
8 m
9 m
# ]
# m
# m
# ]
# ]
# m
# m
# m
SRS IERmE 28250 m
3. 4#8

EE R EEEE | REEEE-ZRE | EBRETAMLUDS =T U4 —BEEES
FREEAK 358 H|  BAsREL 900 [~| #&T7EH#Z | 1900 |
FERFAER 501 A| = | 353% [GFRIFIAIVE 1263 3| FRIRAIVE| 3580 a7
5. F| ALK STSEE £45])

FI At BE FRFRAEHR | ERAFAIYH | FRFEKIIH BE=

E4F 5941 A 1,263 17 3,580 17 35.3%

A&t 5,941 A 1,263 a¥ 3,580 1V 35.3%

6. aAMEH

R4 (ZE#8) R5 (ZEf&) R6 (FH)
E-BXHE 0M 0M 0M
IR AR - F 8 0HM 0H 0 M
Z Dt E LR 0M 0M 0H
A — iR BTRE 0M 0M 0M
& i 0M 0M 0M
EEEBEFERBIRA 414,500 M 681,500 H 681,500 [

R4 (ZE#8) R5 (ZEf&) R6 (F¥8H)

% IEFEEE 0H 0H 0H
EHER B EEEMRIBESD) 149,600 M 136,400 M 150,000 M
EEEEL (EEEERBREER 4,087,696 M 4,080,000 M 4,180,000 M

tH Z Dt 78,000 M 7,000 M 100,000

& = 4,315,296 M 4,223,400 M 4,430,000 M

7. %0 [ SHSEE EfE) 8. B OT [ RASEE EE]

= )i B RS = )i Bl $ETFS

FIABEIABHYILA 115 @/ A 96 A/A| [1B&HE=YFIBEEL 16.6 A/B 15.7 A/B

(FDURADE S+ 5E S E f AEHR AL/ [ERIF A E %] [ERFAREH/[EREE B

FIRBBIAHI-YZH 711 B/ A 458 A/ AN| |MERImMH=YFIAEX 210 A/m 152 A/m

[(MOXZHOEE]/[ERFI AE ] [(FREFAER/[EREFHEREE]

FIAZIAH-YLAOEE 711 A/ A 362 H/A| |BEEZE 35.3% 40.6%

(MOZHOEH]-[FTOWRADAS])/ERMFIRER] | |[EMFIAIVE]/[EM&EAXIVE]

9. &

BEEMELE |EslswRaza=TaesE|

HEERER |

R6.7~R6.8




